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HSSC CET Group 57 Question Paper 18 Aug 2024

The Kandla port is located in the
state of

(A) West Bengal
(C) Odisha

(E) Not attempted

(B) Maharastra
(D) Gujarat

What is a graph in C ?

(A) A visual representation of data
el
-(.\,-.tq'

K

(B) A collection of nodes

(C) A mathematical formula
(D) A programming language
(E) Not attempted

Mohinder ploughs a field in 6 days and
Ram ploughs the same field in 12 days.
How long both of them take to plough
the same field working together ?

(A) 4 days

(B) 5 days

(C) 3 days

{D) 3.5 days

(E) Not attempted

Which bodystarted first radio
broadcasting in India in 1923 ?
(A) Radio Club of Bombay

(B) Radio Club of Madras

(C) Radio Club of Kolkata

(D) Radio Club of Delhi

(E) Not attempted

This pressure belt is also called as
‘Horse Latitudes’

(A) Sub-tropical high pressure belt
(B) Equatorial low pressure belt
(C) Polar high pressure belt

(D) Sub-polar low pressure belt

(E) Not attempted

CG - CHS24

1. Fisen ggng fopm =g ° foom 2 7

(A) Tim E A (B) HEATS
(C) 3nfewm D) T
(E) Tt

2. CH % AT BT B ?
_AA) ST o Terggare Sew
(B) ISH HI &g
(C) IoTe AT &
(D) T THTfERT HIS
(E) 9T

3. Wifect T ©d HI 6 e ¥ Siidar g 3
It W @ 12 feq § Saar 2 | ST et
W@Haﬁsﬁaﬁﬁﬁmmwéﬁ% ?

_A4) 4 fea /)@f
(B) 5 fea g
(C) 3T
(D) 3.5 fea
(E) SToamd

4. 1923 ¥ WA # Ha® Ugt e TEwor Ry
Ten A I fom e ¢
(A) T o1 16 =i
(B) T Fo1w 31T Hgrm

M =€

R -12

Nﬁ*\@fmmmﬁm

(D) et v 37w feeett

(E) 3Tvatéa Lo
5. T & B g Iaier off Fr @ 2

Ay STHiesH I gara A a

(B) HeT W& et game ary &y

(C) ¥ 3= Tama et &

(D) S9-Y™ 11 ume Ay &
(E) Tafya
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Which of the following is the name of

CG - CHS24

6. foema i srega 7é 1 A ffafea 0 3

Brahmaputra river in Tibet ? FH-a1e ?
(A) Jamuna (B) Tsang Po (A) ST (4B) TEm
(C) Sonaa (D) Sundari (C) B (D) gt
(E) Not attempted (E)
Which keyword is used to define a 7. CH &M H T TFNR =t aforTfea q;{%{ %
tagged structure in C ? %qﬁmzﬁa:émw‘mﬁmw%?
(A) struct LA] struct
B edef
(B) typedef . (B) typ
(C) union =y (C) union
(D) enum EHYE D) enum
(E) Not attempted (E) 3TSTfé

Hawa Singh won the Asian Games
gold medal in consecutive editions of

8. = fig 3 Prfafaa o @ e @& o 1966
3R 1970 § i gwRmn § tREE gd

the games in the 1966 and 1970 for e »
which of the following games ? &l 95 S | %
(A) Weight lifting (B) Boxing (A) TR ) 55"2“3'3“
(C) Running (D) Badminton (C) < (D) Seffe
(E) Not attempted (E) FgaTid
What is Project Haryali ? 9. W UiEN =8 ?
(A) Drip Irrigation Project (&) Teu =g afEsm
(B) Watershed Development Project (B) arere famra afE=-T
(C) Forest Cover Improvement Project ) I AT §E R IS
(D) Western Ghat Protection Project (D) ufert =re TReo gisET
(E) Not attempted (B) 3w
A train 375 m long takes 30 seconds | 10. 375 Hiet Tl T% @RI TH @H &l IR
to cross a pole. Find the speed of the % T 30 Uehe &1 G0 dl & | et <l
-train in kilometer per hour. T fepetidier wfa o o Wgﬁ‘@l’q
(A) 45 km/hr L) 45 Tt/ :3&1;@5}
(B) 44 km/hr 7 (B) 44 Tertt /a1 5»
(C) 46 km/hr e (©) 46 fft/gr
(D) None of these E]ff% (D) 398 & Wi &l
(E) Not attempted (E) 3ITwamiéa
-3- D
/\ \
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12'

13.

14.

15.

. . issing
A number series with one term m

is given. Choose the correct option to
complete the series.

20, 19, 17,72, 10, 5

(A) 12

(B) 13

(C) 14

(D) 15

(E) Not attempted

Which of the following is known as
‘Fruit Bowl’ of India ?

(A) Madhya Pradesh
(B) Uttar Pradesh

(C) Himachal Pradesh
(D) Orissa

(E) Not attempted

D
Bl =

If the letters of the word

BOMBARDMENT are arranged in

alphabetical order, then how many

letters will remain in the same

position ?

(A) O

(C) 2

(E) Not attempted

(B) 3
(D) 1

National Botanical Research Institute
is located at

(A) New Delhi

(B) Bangalore

(C) Chennai

(D) Lucknow

(E) Not attempted

Which of the following is a logical
bitwise operator ?
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>

U e sjaen 4 18 R, S v o
= B, @A T B o fem s
20, 19, 17, ?, 10, 5
(A) 12

(B) 13
ue) 14

(D) 15

(E) 3ranfaa

12. fFm=faflga § 4 ol wia =1 ‘el =5
I gl AT & 7
(A) HET Wew
(B) ST Yowt
L€) femmaa wewr
(D) IgrE
(E) 3TSmfera

AB BLOEMY o i

11.

13. AfC g BOMBARDMENT & 3ieri =)
AUISHH T TR ST At R 3veni w5 g
YT W@ 7
(A) 0 (B) 3
() 2 AD) 1
(E) 3T9Raa

14. UM F9efa SEuT deum fi

(A Tt feeett
(B) sreiR
(C) ¥
(D) TETH vy
(E) 3nenfia e
——

(A) * (B) / R )
LD = (A] * >
(C) & (D) + o O & \fsfi
(E) Not attempted (E) R ”
-4.
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19.
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The angle of depression of an object
from a tower of height 150 m is 30°. The
distance of the object from tower is

(A) 50+/3m
(B) 100V3m
(C) 1504/3m

(D) None of these
(E) Not attempted

What percentage of rural consumer’s
income is spent on groceries ?

(A) 10%

(B) 45%

(C) 62%

(D) 27%

(E) Not attempted

Which of the following company is
launched Shagun-Gift an insurance
policy ?

(A) LIC

(B) ICICI Life Insurance

(C) SBI General Insurance

(D) TATA General Insurance

(E) Not attempted

Complete the following series.
BV, CU, ES, HP, LL, QG,

(A) VB (B) WB -
(C) WA (D) VC =
==

(E) Not attempted

What does TTL stands for ?

(A) Transistor Timing Logic
(B) Transistor-Tuned Logic

(C) Transistor-Transistor Level

|AP) Transistor-Transistor Logic

(E) Not attempted

CG - CHS24
16. 1501ﬁZ{W§Hﬁ@W’?WTﬁW
ST F0 30° B | TR H T Hogh
8 7
(A) 503 HI&
=EE (B) 1003 MK
lfli;f:l_?tl (C) 1503 Hiex

i B IS TR
(E) YT

17. TEor STHET ht 3 @ feRa Wi
R % T W @Y B ® ?
(A) 10%
(B) 45%
(C) 62%
UD) 27%
(E) STo=Itea

18. Frefufes § @ fea ool 3 wH-fige
e wiferdl At B @ 7
(_{AT LIC
(B) ICICI TIS% ¥ARH
(C) SBI e $TIRH
(D) TATA Sidl SRE

(E) SO
19. Trfafaa e g =X )
BV, CU, ES, HP, LL, QG, W
(A) VB (B) WB
—HE€] WA (D) VC
(E) ITwmiaa

20. AT 1w JA B ?
(A) et ergii @it
(B) T -[S AT
(C) Tifvr-gifre aea
AD) ST -Zireet |t
(E) ITvTTed

w)

Vi
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21.

22.

23.

24.

25.

A series has been given. Choose the
correct option for missing term to
complete the series.

KMS, 1IP8, GS11, EV14, ?

(A) BX17 (B) BY17 7
(C) CY18 (D) CY17 Gfs‘:?g]_
(E) Not attempted ElﬁEl

What is the maximum validity of
Learners Licence in India ?

(A) 6 Months

(B) 3 Months

(C) 1 Year

(D) None of the above
(E) Not attempted

Three vertices of a parallelogram are
(1, 3), (2, 0) and (5, 1). Its fourth vertex is
(A) (3, 3) (B) (4, 4)

(C) 4,0 (D) (0, -4)

(E) Not attempted

Which of the following is concerned
with the quantum and frequency of
income receipt of rural people ?

(A) Product Mix

(B) Distribution Mix

(C) Promotion Mix

(D) Price Mix

(E) Not attempted

If a man were to sell his hand cart for
% 720, he would loss 25%. What must
be the selling price if he were to gain
25% ?

(A) T 1,000

(C) ¥ 1,300

(E) Not attempted

(B) ¥ 1,200
(D) 1,400 -

CG—CHS24
21. W’I@?ﬂﬁﬂéél’]@mnqnm;
WWW%WWWW|
KMS, IP8, GS11, EV14, pC ¥ 17
(A) BX17 (B) BY17
(C) cY18 AD) CY17
(E) Tufirg
22. WA H oHE wrsh 6 sl duaq
ERIE:
AT 6 TER
(B) 3 WEH
(C) 199
(D) SRF # § K 7
(E) 37sanfia

23. TF | g & i o (1, 3), (2, o)
3 (5, 1) F | eeht <o 3 @ @ ¢

=z () (3, 3) (B) (4,4)
Gt © (4, 0) D) (0,-4)
(E) 3t

24, T=fafed 4 @ w8 arfo &t 6 am
e =ht wEm SR gy @ def R 2
(A) Ieag Tsror
ABJ farawor s
(C) = fasror -
(D) 7 forao
(E) 3Tanfia

Ife Uk SAfdT 39T 3ol T 720 H 9= At W
25% 1 g1 gl | afe 3§ 25% & @™
ﬁa‘rﬁmqawﬁﬂ ?

25.

B

(A) % 1,000 \(By% 1,200 3
(C) % 1,300 (D) % 1,400
(E) 3TsRtaa Qyo E
0 x5 (200
5y
E
_a
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26. The first newspaper in India
was introduced by the name
(A) Kesari

(B) Samachar Darpan

(C) The Bengal Gazette

(D) Bombay Chronicle

(E) Not attempted

What are the factors influencing Rural
Consumer Behavior ?

27.

(A) Environmental Factors
(B) Psychological Factors
(C) Cultural Factors

(D) All of the above

(E) Not attempted

28. Which of the following is direct selection

operator in C ?
(A) dot(.)
(B) commal(,)
(C) colon(:)
D) semicolon(;)
(E) Not attempted

=1

F =R
@

29. In a certain code, RAIN is written as
8 $ % 6 and MORE is written as

7 # 8 @. How is REMAIN written in
that code ?

A #@7 $%6
B) # @8 $ % 6
(C) 7@#$.%6
D) 8@7%$%6
(E) Not attempted

26.

[=1£3
=
(=]

CG - CHS24

A 3 Teen T T R A o o
fepan T o ?

(A) FEd

(B)Hﬂrﬂﬂ?{d‘“
.‘EIL(Q)"C’JWW

22 (D) =T IR

(E) ST

(C) HTE=pIdh HIH

ARy g wt
(E) SToied

28. C 1 fafafiga § § =H SR e
AR R 7
(A) BTE(.)
(B) THI(,)
(C) hieH(:)
D) BRI (;)
(E) TSR

20. U Tty s # RAIN i 8 $ % 6 feran
T & 3 MORE &1 7 # 8 @ feran
T ® | 39 F1g § REMAIN &1 8
foran s 2
A) #@7$%6
B) #@8& $ %6
C7@#$%6
LB 8@7$%6
(E) JTwida

v
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31.

32.

33.

34.
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Rajasthan has its High Court (principal
scat) at

(A) Jodhpur

(B) Udaipur

(C) Jaiselmer

(D) None of the above
(E) Not attempted

Which is the capital city of Manipur ?
(A) Shillong (B) Imphal

(C) Silvassa (D) Kavaratti

(E) Not attempted

What is recursion in computer

programming ?

(A) A loop that repeats a block of
code until a condition is met

(B) A function that calls itself

(C) A process of breaking down
a problem into smaller
subproblems

(D) A way to optimize code for faster
execution

(E) Not attempted

Pick the odd one out.

(A) Just (B) Fair
(C) Equitable (D) Biased M BE
(E) Not attempted g;éf'i

The discriminant of the quadratic
equation 2x2 - 6x -3 = 0 is
(A) 60

(B) V60

(C) 12

(D) Y12

(E) Not attempted

h

CG - CH824

30. meaamm(ugunﬂz)mg
LAAT ST

(B) 35aqt
(C) StHemt
(D) 39daa | 1§ 7
(E) 3varfea

31. TR 1 TAUT wET BT 2 2
(A) Terer BY T
(C) Toeaman (D) AT
(E) 3TvTmig

82. @ Wufim F fred o Bt 2 7
) T w1 1 7 ER o w9 g
IS H TH =ATH T IR
IE{.,E] (B) Th B T GE Y et HidT 2
E2H () wh gwem | B 39 ~qaEI o
i <t il
(D) o<ft & fosuresr & foe @re
ITIRITT A BT Th aliem
(E) 3Tanfea

33. i wsg giwr |
(A) =T (B) Trsuey
(C) =it B] &t
(E) 3Tuaifyd

feamd wfiemtr 2x2 —6x -3 = 0 &1 faves
7

34.

(A) 60
(B) V60
(C) 12

(D) V12
(E) 3T5amid
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36.

37.

38.

Join Telegram

Kunal walks 10 km towards north.
prom there, he walks 6 km towards
south. Then, he walks 3 km towards
cast. How far and in which direction is
he with respect to the starting point ?
(A) 5 km, West

(B) 5 km, North East

(C) 7 km, East

(D) 5 km, South West

(E) Not attempted

which of the following is /are Marketing
Strategy available for Rural Market ?
(A) Promotion Strategies

(B) Product Strategies

(C) Price Strategies

(D) All of the above

(E) Not attempted

According to the 2011 Census of India,

which of the following states has a
population density of 17 persons per

sq. km. ?
(A) Bihar
(B) Uttar Pradesh ELE
(C) Arunachal Pradesh 'Elu ;

(D) Sikkim
(E) Not attempted

Kalaam-e-Nairang is a compilation of

poetry written by

(A) Syed Ghulam Bhik

(B) Murari Lal Sharma

(C) Allama Muhammad Igbal
(D) Altaf Hussain Hali

(E) Not attempted

Group "HaryanadJobs.in"

CG - CHS24

as, el I HI AN 10 foprft =rern 2 | =@
2 = 2o i 3 6 et e 2 | e
az g 1 3w 3 Fef =rer B 1 oifir
%fgﬁgaméﬂﬁa'smﬁega?ﬂm%m
E2H § 2 7 o
() 5 feft, afem mlSV
_pys forlt, ST
() 7 foht,
(D) 5 freft, afeor afzm
(E) JrEtad
srrefior ST 3 fere Prefafiaa & & w1

36.

37. WG H 2011 i VAT & FER,
fpafafea § & fem T=a %1 SHEEn
e 17 Safed ufd o fet 2 2
(a) feEr
(B) I WA

(2] IR TS
(D) Tafawn
(E) 3TSRTTea
38. FAW-U-H__ gn foe w8 wfaast
%1 Tehed 2 |
(A) #IE A Tk
(B) GUrieTet Il
" Cy3THT HEHAG gehdlel
(D) 3TeATH T et
(E) 3rwntad
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N

39,

41.

42,

A sum of money doubles itself in 4
years at compound interest. It will
amount to 8 times itself at the same
rate of interest is
(A) 18 years
(B) 12 years
(C) 16 years
(D) 24 years
(E) Not attempted

@
s

Pointing towards a boy, Veena said,
he is the son of the only son of my

grandfather. How is the boy related to
Veena ?

(A) Uncle
(C) Father
(E) Not attempted

(B) Nephew
(D) Brother

In which year was the India’s First

National Park, the Hailey National
Park, established ?

(A) 1930 (B) 1932
(C) 1936 (D) 1939
(E) Not attempted

What is the necessary condition for a
deadlock to occur ?

(A) Mutual exclusion
(B) Hold and wait

(C) No preemption
(D) All of the above
(E) Not attempted

In which year Right to Information
(RTI) Act came into force ?

.

CG - CHs24
39. Uk wwufh wryfy s m

4mﬁﬁém
ﬁ?ﬁﬁ%lmmammm
ﬁmﬁaﬁﬁawﬁhﬂ?
(A) 18 = o=y 4
AB) 12 7 Bleyl?
(C) 16 a4
(D) 24 =§
(E) Jtwfig
40. Emﬁmmm@aﬂmi
eI, T8 W 4T F Fhelld 42 FT A7 2 |
S 1 8 e T @ geafte 2 7
(A) == (B) Weftsr
() foran Py Wi
(E) 3twanfea
41.

LA 1930 (ZBy 1932
(C) 1936 (D) 1939
(E) ot

42. T (IzeAis) ufed 89 F fou smavs
IdFETE ?
(A) PF TFEeFIH
(B) &lee Ug 3¢
(C) 1 Hrure
SRS
%mﬁﬁ

43. HIA F AfawR (mané)ﬁfhﬁmﬁm
- T AT FI 7

[=]
(A) 2004 (B) 2010 ii]” o (A) 2004 (B) 2010
(C) 2005 (D) 2009 L] 2005 (D) 2009
(E) Not attempted (E) srnfaa

-10-
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46.

47.
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what is binary code ?

(A) A system of representing
information using base-10 digits

A system of representing
information using base-16 digits

(B)

A system of representing
information using only two digits:
0and 1

(C)

A system of representing
information using alphabetic
characters

(D)

(E) Not attempted

Manas Tiger Reserve is located in
(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Assam

(D) Kerala

(E) Not attempted

Tickets numbered from 1 to 25 are
mixed up together and a ticket is drawn
at random. What is the probability
that the ticket drawn contains a prime
number ?

2 7
W = (B) 55
S 11
© 25 ®) 25

(E) Not attempted

Which function is used to open a
binary file ?

(A) fopen()

(B) open()

(C) fread() %}g
(D) fwrite() O

(E) Not attempted

CG -~ CHS24

a4, Al 3 FNR 7

(A) g=1-10 SR! %1 AT O AT

=1 gfafafires w0 6 wF goreft
(B) g@a-maﬁﬁﬂmﬂﬁtﬁm
EEE o gfafifea @ o ot
B2 oy aw @ 371 : 0 3 1 FT I
mtﬁquﬁfﬁﬁﬁaﬁﬁﬁm
yoTTe!
(D)avfmﬁlmﬁw:-rcrzﬁﬂﬁ%aﬂm
1 shafifea @ $t w sore
(E) 3Tvartad
45, uHE IR fEE i fer e |
(A) I e
(B) HEA W&
yey |
(D) T
(E) ITSTTEd
46. 13 257 HHITHA el i b a1 fieT
fean ST 2 3R U fehe Agfee® w9
fyeRTelt ST 2 | 3 wraa @ 6 et T
fomhe o T JWTST T & 7
2 i JJ
(A) 5 B) 35
9 11
€] 2 12/l
(E) JTwTtEd
47. W FEA $ @ed 5 fau R wEE
o1 ST fopar ST @ 7
(A) fopen()
(BJ open()
(C) fread()
(D) fwrite()
(E) TomEd
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1

48. The chromatin that is mm‘C( S:gzesly 48. 9 Eﬁ}felﬁ':{ Tfjf e GE afteh 4 EE RTF[T*
packed and stains dark are ca 3 TEU T 2t AT 2 |
(A) Heterochromatin (A) %ﬁ'ﬁ'ﬂ-ﬁﬁﬁq
(B) Euchromatic (B) ??I;;ﬁlﬂﬁeg
(C) Chromosomal protein (C) W ;ﬁ—a:[
D) H I ti
(D) Homochromatin - D) B
(E) Not attempted et e (E) 3rvaifag
sl g
e |
49. If4n_gn1 - 48, then n" is equal to 49, ‘qﬁ 4n _ gn1 48 ar n~ ook w% 5
(A) 3 (B) 8 AA) 3 B) 8 sy -14.4y
(C) 27 (D) 1 (C) 27 (D) 1
(E) Not attempted (E) 375ferg
S50. Who was the founder of the Asiatic 50. ufymnfes Fﬁms‘ﬁ F TEATTH H g 7
societ‘y ? (A) = gﬁ-qq Qﬁ
(A) Sir Thomas Erle ffemrm i
(B) Sir William Jones (’(B’)/ITE e
(C) Lord Mount Batten () ETF% ! :
(D) Lord Charles Rose (D) TS =1 Tt
(E) Not attempted (E) 3Tw=nfeq
S1. Six people A, B, C, D, E and F are | 51, mw%A,B,c,D,EaﬁtFwaﬂ
standing in a circle facing the centre. B T %z 6t T 5 F I B.D
or is the immediate neighbour of D and C. %Bg & 1 Egﬁ 3 o 3];_’{ A
E%E Ais the immediate neighbour of E and C 2 1A E o
[M255 C. Fis to the right of D, ﬁm@mélF,D%mﬁaﬁt%l
Who is the immediate neighbour of A A 3R F 7 fpeay TSI BT 2 2
and F ? ] .
(A) B (B) C (4) B (B) C P A
(C) D D) E iﬂf;; (©) D L#) E
(E) Not attempted : (E) srvnfaa 3 R
S52. This lake of Haryana is a part of Asola | 52. 7R 3] g & FETET Vgl aeftg
Bhatti Wildlife Sanctuary HHIRT HT Tsh 977 2
(A) Brahma Sarovar Lake (A) ST’ TR e -
(B) Karna Lake (B) #ui st -
(C) Surajkund Lake €] T=Fs i
(D) Badkhal Lake (D) F=@d 3fie
(E) Not attempted (E) 3T9ariyg
D . -12-
S —
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55.
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which type of register in a Central
processing Unit (CPU) is responsible
for holding the current instruction
peing executed ?

(A) Program counter.

(=] (=)

(B) Instruction register iilﬁg;-‘ -

(C) Memory address register
(D) All of the above
(E) Not attempted

A process of face to face interaction
between the salesperson and the
prospective customer is referred as
(A) Personal Selling

(B) Advertisement

(C) Consultative Selling

(D) Transactional Selling

(E) Not attempted

Which of the following is not a product
strategy in Rural Marketing ?

(A) Branding

(B) Packaging

(C) Pricing

(D) After Sales Services
(E) Not attempted

According to population census 2011,
what is the percentage of Literacy in
Haryana ?

(A) 75.6

(B) 78.6

(C) 80.5

(D) None of the.above

(E) Not attempted

%o
E:: &

13-

CG - CHS24

m@@z(mﬁ%&mmm
freigr gran 2 7

(A) ST SHTEE

(B) sz ffseet
,ﬂrﬁﬁﬂ@uﬁﬁw

(D) IugF i

(B) 3Tsmed

54, frar i GHITEE e o dre A -HE
areia < iR S FE TR 7
() safeama fashl
(B) fagm=
t (cy o feshl
(D) S Fadl fershl
(E) TSR

56. 2011 < SFIUHT S FTHR FET 3 HIEd
&1 gfewra fohaan 2 7

((By75.6

(B) 78.6

(C) 80.5

(D) 39T ¥ § I3 TE

(E) 3TSTRIa

|
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S59.

60.

61.
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When do we celebrate International

Tiger Day ?
(A) June 29 (B) September 29
(C) July 29 (D) May 29

(E) Not attempted

Which of the following king wrote the
book ‘Amuktamalyada’ ?

(A) Akbar

(B) Raja Raja Chola

(C) Krishnadevaraya

(D) Chandragupta Mourya

(E) Not attempted

Of0
&
et ] =
I (xS ! is continuous
ko 5 =i
at x = 1, then the value of k is
(A) e (B) O
(C) -1 (D) 1

(E) Not attempted

What is the population density of
Haryana as per the Census 2011 (in
per square km) ?

(A) 786

(B) 573

(C) 625

(D) None of the above

(E) Not attempted

Which of the following is considered
as challenges in Rural Marketing ?

(A) Rich Infrastructure

(B) Poor Literacy Rate

(C) Increase in availability of shops
(D) None of the above

(E) Not attempted

CG - CHsy,
57. & i A feam Fa g & -
(A) 29 SH (B) 29 fodan
ey 29 g (D) 29 =3
(E) 315
58. ﬁrﬂ%@aﬁﬁﬁmwﬁ'm.
q&e foreht oft 7
(A) 3T
(B) TS TS =1ed
(D) Sige wi
(B) 3Tv=miyd
10&' XA
59. Ife f(x)={ x-1° ,x =1 g
e ]
BN LkH IE
(A) e (B) O
(©)r=11 (D) 1
(E) TS
60. 2011 I SIVHT o ER ERAT0N
S e (a1 R ) R g
(A) 786
_{B] 573
(C) 625
(D) 39 & & HrE TE
(E) ST9=TEe
61. T fomvm & frefafea § & frd g
HqHET TG 2 ?

E(B)@namamnat
EIAE (o) GHAI <t Iy § gy
m2H (D) I A & 1 7

(E) 3Ty
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63.

64.

65.
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Ankit started walking towards north,
After walking 30 m, he turned towards
left and walked 40 m. He then turned
left and walked 30 m. He again turned
left and walked 50 m. How far is he
from his original position ?
(A) 50 m
(B) 40 m
(C) 30 m

=1
e

)
o

(D) 10 m
(E) Not attempted

What is the minimum age for becoming
a member of Rajya Sabha ?

(A) 25 years

(B) 30 years

(C) 35 years

(D) 40 years

(E) Not attempted

Rural demand is generally
(A) Continuous and Regular
(B) Seasonal and Irregular
(C) Permanent and Irregular
(D) Sporadic and Regular

(E) Not attempted

What was the sex ratio (Female per
thousand male) of Haryana as per
2011 census ?

(A) 879

(B) 943

(C) 989

(D) None of the above
(E) Not attempted

CG - CHS24

62. ifie e Y ST E @D |
20 et Fer % TG, T8 ATl AT gIAT 2
it 40 et e # | R T8 =ni S
e & 3R 30 Hftex <Ter 2 | =8
aﬁﬁgﬁtgg_m%aﬁtsoﬁmwal
aqu:ﬁrg{f@ﬁﬁﬁﬁfﬁaﬁgé?
(A) 50 i ﬂ
(B) 40 HIX 47
(C) 30 Hi&

FE 7

(A) 25 a9
_(By 30 T

(C) 35

(D) 40 T¥

(E) ISR

64. TTefoT Wi I AR W AR 7
P 3 Frafi
() Hre 3R AR
=] @ (C) Trft 3R sfEfE
a8 (D) foe-ge o
(E)

65. 2011 ! SUAT & FTER BRI HI
faTuTd (Sfd &R gedi o Hfge) =0 o ?
|IA7879
(B) 943
(C) 989
(D) 39 ¥ & g T
(E) SATaTTEd

s
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66.

67.

68.

69.

70.

£ 13

Which of the following is not a problem
in Rural Markets ?

(A) Low level of literacy
(B) Low per capita income

(C) Well developed market

A
(D) Logistic problems IE%E
(E) Not attempted (=555

Who was the first Mughal ruler of
India ?

(A) Akbar

(B) Babur

(C) Humayun

(D) Shah-Jahan
(E) Not attempted

Approximate change in the volume V

of a cube of side x meters caused by
increasing the side by 3% is

(A) 0.09x°*m3 (B) 0.03x*m?
(C) 0.06x°m? (D) 0.04x’m?
(E) Not attempted

Which among the following dance

form of Haryana marks the sowing of
the Rabi crop ?

(A) Ghoomar
(C) Lohri
(E) Not attempted

(B) Jhumar
(D) Loor

If a+ 1, 3a, 4a + 2 are in Arithmetic
Progression, then the value of ‘a’ is

(A) O (B) 2
C) 1 (D) 3
(E) Not attempted

Where did the Morbi bridge tragedy
occur ?

(A) Kerala (B) Gujarat
(C) Uttarakhand (D) Uttar Pradesh

D

CG - CHs24

qHen T4 2 7

CeAT TET w1 frey

(B) Sfer =afa 3 =m

L) =8t 7 4 i amam

(D) T8 gremd
(E) 3Tmfig

O7. MRA 1 el et e F o7 7
(A) 37e

LBT s

S(C) Y
(D) wmE-rEl
(E) 3Tfia

68.

V H o afEdT &
(A) 0.09x°m® '4BJ 0.03x’m?
(C) 0.06x°m? (D) 0.04x°m?
(E) 3T5=mted

69. TiHfafEs & & afmmn g
! BT HT §147 T Fafwa 2 7
(A) FH (B 3T
(C) =gl (D)
(E) 3Tomfeq

‘a’ T HE FT 2 7

(E) Not attempted

(A) O ) 2
(@l (DB Tacs ©
(E) 3TuTfEa

71. WSl G BTCHT FEl g

EILE (A) e (AB] TR

15&’ (C) IS (D) ST w&w
(E) 3TSmfEd
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66. B AR i Frcsferfa & -z

YT 1 3% 9@H T x M. % o9 % A

I |

70. wﬁa+1,3a,4a+2aﬂm%uﬁﬁ€f,?ﬁ
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c O ff_

@ Sy 3

7;,.'50‘,(1,1 people A, B, C, D, E, F and G are

wun [
20 6
standing in & single line, facing phone
pooth. E is somewhere ahead of F.
There 18 exactly one person standing
petween C and G. D is immediately
pehind A. F is behind both B and
p. 1f D and C are fourth and fifth in
line, respectively, then which of the
following must be true ?
(A) A is first
(B) B is first
(C) F is sixth
D) F is seventh
(E) Not attempted

What is the per-capita income of
Haryana (at constant price) as per the
Economic Survey 2023-24 (Advance
Estimates) ?

(A) ¥ 1,04,550

B) ¥ 1,85,490

(c) 2,57,840

(D) None of the above
(E) Not attempted

73.

74. Forests department of Haryana runs

Pheasant Breeding Center in
(A) Kurukshetra (B) Bhiwani
(C) Panchkula (D) Pinjore
(E) Not attempted

75. Which one of the following is not a
Rural Marketing Mix ?
(A) Product

(B) Promotion EEE
(C) Price -

(D) Package [gjzi
(E) Not attempted

_—

= o

CG - CHS24

¢ %2. @ =f#a A, B, C, D, E, F 3 G U
i i ER A F AT TSR | E, F 3
Eﬁﬁaﬂﬁ%m}ﬁtc%aﬁaﬁa‘mm
w%@a%ID.A%mméqp,g
st p i % 8 ? | fa p 3 CFAEW
ﬁﬁaﬁﬁﬁ?qﬁﬁww%,ﬂﬁq
# § F-w °d B =ME ?

(A) A2 8 é
(B) B 92 2 -
V(»C]FW% 8 G
(D) F&m@el 2 2
EBEE (E£) smenfaa
E -
mih

73.  3ffs G 2023-24 (M IH) &
FER s i ufd =ifaq aifies 3=
(R qeg W) #1 8 7
(A)  1,04,550
(B) % 1,85,490

“147-

(C) T 2,57,840
( By 3TgF | § FE AR
(E) JTSTEd
74. wiEon 1 949 faum o fi T
g =l B |
(A) e (B) frarh
(C) =T D) fisi
(E) Ivafya
75. T=fafea & 9 sH-w1 awfio oo fasgor
T8 7
(A) JeuTg - \B) T=R
- (C) 73 - (D) Tehs
(E) 3ronfaE

N
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78.

79'
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The maximuim area of a rectangle
inscribed in the circle

X% 1)? & (F=sip= 64 13
(A) 64 sq. units

(B) 72 sq. units

(C) 8 sq. units

(D) 128 sqg. units

(E) Not attempted

Which of the following state introduced
‘Chirayu Health Insurance’ Scheme
in India ?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Kerala

(D) Haryana

(E) Not attempted

What is the limit of the annual turnover
for MSME-Micro enterprises ?

(A) < 8 crores

(B) < 5 crores

oo
E:l

(C) < 10 crores
(D) None of the above
(E) Not attempted

What is the age limit cap for joining
Mukhyamantri Kisan Evam Khetihar
Mazdoor Jeevan Suraksha Yojana in
Haryana ?

(A) 10 years to 60 years

(B) 20 years to 59 years

(C) 15 years to 75 years

(D) None of the above

(E) Not attempted

CG - CHS24

76. T (x + 1) + (y - 3) = 64 % M 3if
Fru o v s 1 stfereran e 3
(A) 64 & g

(B) 72 =i 373

(C) 87 51

(D) 128 = 373

(E) 3ryamfia

77. @ ¥ f=fafea 4 @ fem o=2 71 T
e i’ I IF 6 2 7

(A) I eI

(B) HEF Wel

(C) e
(o g

(E) TSI

78. UHUHUAS-GEH I2HI % fore aifish HHEm
1 o =R 7
(A) < 8 g
(B) < 5%Ug
ey < 10 g
(D) ST H & IS Tal
(E) TSR
79. @M § gEEA fREaE U@ @die a9q
Sfie e aren § wnfiet 29 % foaw 3
i 2 7
(A) 1099 T 60 a9
. (B) 2099 ¥ 59 99

(C) 1599 ¥ 7599

(D) 394 § & 1S 7
(E) ASnfaa
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~____isused in the manufacture
of paints and lacquers.
(A) Poly Vinly Chloride (PVC)
(B) Bakelite
(C) Urea formaldehyde resin

(D) Glyptal
(E) Not attempted

Consider the following statements about
index of Industrial Production (IIP),
Haryana and choose the right option

given below :

1. The IIP is presently being prepared
in the State by the Department of
Economic and Statistical Affairs,

Haryana.
2. The present base year for
calculation of IIP is 2021-22.

(A) Only the statement 1 is correct
(B) Only the statement 2 is correct
(C) Both the statements 1 and 2 are

incorrect
(D) Both the statements 1 and 2 are

correct
(E) Not attempted

Which Part of Indian Constitution
deals with the Fundamental Rights ?

(A) PartI (B) PartII
(C) Part III (D) Part IV
(E) Not attempted

The word ‘Cigaritis meghamalaiensis’

is related with
(B) Tiger %}5’
(D) Monkey =

(A) Butterfly
(C) Ant
(E) Not attempted

CG - CHS24

R yEm s T A
BT R |
(A) dieht fammser Femmres (frfE)
(B) Sheilse
__(cy Tfen wifafsase 1E

80.

81. aiteiifies IeaTed g (FEATEH),
gﬁum%aﬁﬁﬁm%%ﬁﬁuﬁmﬁar{
i v 2 fog mo T faweT BT |
1. H@aﬂ%ﬁ"faﬁaﬁnﬂﬁmﬁ AR

=[] 3ir giferd we % fa, FheEmn

el g dam R @R |

==
2. a@éﬁaﬁw%maﬁmmaﬁ?

202122 3 |
(A) et HUA 1 FE B
(B) a1 U 2 FE 2
(C) ¥ 1 3R 2 T T @
o] FoF 1 3 2 G ae @

(E) JT5RITEd

82, WA WU T HH-FT WA HifeTh
TRl § FEfea 2 ?
(A) W 1 (B) W 11
ey W 111 (D) |ET IV
(E) 3rmEmfEd )
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83.
g gafed 2 |
Aﬁﬁﬁ?ﬁ (B) =TH X
ey =i (D) =&
(E) Jrs=nfEd
D
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/ [ l';]. o 'J.ST)

/ (’,\_ >
{’/) lﬁ 0

A. Z, N, M, O and P are members of a
family. There are two married couples,
N is a curator and the father of O, P
is the son of the daughter of A, who
is a banker. O is the granddaughter
of Z, who is an architect. There are
two unmarried students in the family.
There is one teacher in the family
and banker is her father. Who is the
husband of M ?

(A) P ()
(B) N

(C) Z

(D) A

(E) Not attempted

As per the Pradhan Mantri Fasal Bima
Yojana (PMFBY), how much premium
(in percentage) should be paid by the
farmers for the Kharif and Rabi crops
respectively ? L

P Yy . ':_“E]

(A) 2% and 1.5% Elff%
(B) 5% and 2%

(C) 1.5 % and 3%

(D) None of the above

(E) Not attempted

As we go from the equator to the poles,
the value of g

(A) Remains the same

(B) Decreases

(C) Decreases upto a latitude of 45°

(D) Increases

(E) Not attempted

CG - CHS24

84. A, Z, N, M, O 3 puF qftam % fzeg
2 1 2 foanfem 12 & | N v Fge 2 o
O 1 firer 2 | P, A 1 3 7 301 2, S
SRR | 0, z I Ot 2, St v fhIAe
? | ufar ¥ 4 sfeafza o # | afem
H U e # 3t dm me frar 2 ) M

HUTHEAE ? Z
(A) P il
ZEB N Akt
EYE oz
(D) A él@&v
(E) s

85. UUMEH BHA @1 o (TeAuEsET)
% ITER, TOH IR T wEe F o
fopamt gr sewe: fehaan shifiem (e )
T PTAH fohan ST =mTRe ?
R 2% 3 1.5%
4B 5% IR 2%

(C) 1.5% 3 3%

(D) ST § &/ i T
(E) 3Tornfaa

86. WH-IH T VHE Y@l ¥ yEl W AW F, ¢
T °H
(A) A & B
LABY Tl &
(C) 45° % A& q Tear 2
(D) =gar &
(E) 3Tsnfea

-20-

(3: scanned with OKEN Scanner



Join Telegram Group "HaryanadJobs.in"

87. In which year was National Bank for
Agriculture and Rural Development
(NABARD) established ?

(A) 1999

(B) 1982

(C) 2000

(D) None of the above

(E) Not attempted

How many pairs of ribs are present in
the human body ?

(A) 10

(B) 11

(C) 12

(D) 13

(E) Not attempted

88.

Haryana State Industrial and
Infrastructure Development
Corporation Limited (HSIIDC) was
established in the year

(A) 1967

(B) 1976

(C) 1982

(D) 1994

Ly-. (E) Not attempted

e

90. Some students line up in a queue in
which Ashish stands 15™ from the left

and Sachin is 17" from the right. If
they interchange their places, Sachin

89.

87. Wﬁmwmﬁ(mﬁ;
61 coran fopm = 6 73 oft 7
(A) 1999

_B] 1982

(C) 2000
(D) Iwd | | HIE AL
(E) 3o

88. Wg IR H gEfaai & fohad S22 2 7

qkr 10
% (B) 11
El.‘:rEl © 12
(D) 13
(E) 3TSETHEd
i UsT ST UE IEEEET 9w
frm fafies (EuEamEaEEE) i T
fop @ 738 7
(A) 1967
(B) 1976
(C) 1982

B] 1994
(E) TS

89.

90. FS B U Hhal § @s ¢ f&H 7MY a1d
Y 159 T W g 3R gfew g & 174
A W 2 | afe I A BAE "2 o, dl

Hﬁqmﬁls%wwmm | R H

w i ight.
s sueats s oot MR | NS PP s e
(A) 21 1821 S
(B) 22 (B) 22 ﬁ —
(C) 29 LIer 29 s L=
(D) None of the above = [s] (D) W LR IS TE
: (E) Not attempted é]%%l (E) AT
-21- D
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E&g CG - CH¢

English Language foht
91. Choose the right option to form a| 96, ‘@rfiq’ =1 faeim wee M |
meaningful sentence. _
was /performance/impressed/with/ s (A) 3
quite/his/I . . (B) Frem
(A) His performance was quite E]E;'EL(-QT Trefi
impressed with I. . _
_4B) 1 was quite impressed with his (D) @A
performance. .
(C) I with his performance was quite (E) Irsafya
impressed. . '
(D) His performance with I was quite 97. Y % fereH A
impressed.
(E) Not attempted (A) :;:[
92. Choose the correct meaning of the \_{B)
following idiom and expression. (C) =1
Open secret. o
[ AA] Known to all (SIS
(B) Of no use (E) Awamféa
(C) A useless person '
(D) Full details 98. fwar % g1 &9 FEd o |
E) Not attempted
i Besr - - Ciay g
93. Choose the correct indirect form of the B) i
given word sentence. (B)
He said “who is your father” ? (C) SIF
(A) He asked me who was my father. S
(B) He asked me that who is your (D)
father. (E) TSR
AC) He asked me who my father was.
(D) He asked me who my father is. 99. WY e % Hal 37 H FIT HIT |
(E) Not attempted ()
94. Choose the correct spelling of the given
word. \_{B) ¥gq
devalop. (C) Yedr
(4A) develop
(B) davalap (D) =H%
(C) develup TR
(D) None of the above (E)
(E) Not attempted 100. St HfITE § frer, 39 Fza 3
95. Choose the correct answer after Hge:®l gﬁw od Rl
making necessary corrections. I-E ] A
He went there by foot. (B) g"h
+4AJ He went there on foot.
(B) He go there on foot. (C) g5t
(C) He went there in foot. x (D) gerat
(D) He went there for foot.~
(E) Not attempted (E) 3rvnfaa
D -22-
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